
https://www.geekcert.com/4a0-110.html
2024 Latest geekcert 4A0-110 PDF and VCE dumps Download

 

 

 

4A0-110Q&As

Alcatel-Lucent Advanced Troubleshooting

Pass Alcatel-Lucent 4A0-110 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/4a0-110.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alcatel-
Lucent Official Exam Center

 

 

4A0-110 Practice Test | 4A0-110 Study Guide | 4A0-110 Exam Questions                                1 / 7

https://www.geekcert.com/4a0-110.html
https://www.geekcert.com/4a0-110.html
https://www.geekcert.com/4a0-110.html


https://www.geekcert.com/4a0-110.html
2024 Latest geekcert 4A0-110 PDF and VCE dumps Download

QUESTION 1

Based on the show display below, what should be done to further trouble the LSP problem? Choose all valid actions. 

A. Check all the interface filters to make sure no LDP protocol is blocked 

B. Check all management filters to make sure no RSVP-TE protocol is blocked 

C. Verify all explicit hops are reachable via IGP 

D. Make sure MPLS is enabled on all appropriate interfaces 

E. Make sure LDP is enabled on all appropriate interfaces 

Correct Answer: BCD 
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QUESTION 2

Node 1 receives some VPRN routes from Node 2, but Node 2 is not receiveing any VPRN routes from Node 1. Routes
in VPRN 400 route table are found on Node 1 as follows: Based on the configuration below, why is Node 2 not receiving
BGP VPN routes from Node 1? 

A. VRF import and export policies defined on Node 1 do not match with vrf-target defined on Node 2 

B. Prefix-list exportVPRN100 is applied on Node 1 but not on Node 2 

C. More than one import route targets are defined on Node 1 and only one defined on Node 2 

D. VRF target has to be defined on Node 1 as well 
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E. Community target:65535:101 is not defined on Node 1 

Correct Answer: E 

 

QUESTION 3

Refer to the diagram below, what encapsulation type and VLAN tag are required at point X for the PC to ping the IES
interface? 

A. qinq sap 1/1/1:6.0 

B. qinq sap 1/1/1:6.* 

C. dot1q sap 1/1/1:6 

D. null sap 1/1/1 

E. There is no way to make ping works in this case 

Correct Answer: D 

 

QUESTION 4

VPRN 300 is confiugred on Node 3 and Node 4 with LDP as the transport. No VPN routes are exchanged between
Node 3 and Node 4. What is the cause of the problem? 
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A. VRF policy configured on Node 3 does not match with vrf-target configured on Node 4 

B. No SDP defined in the VPRN configuration on both nodes 

C. VRF-target mismatch on Node 3 and Node 4 

D. Route-distinguisher mismatch on Node 3 and Node 4 

E. Encapsulation type mismatch on SAPs on Node 3 and Node 4 

Correct Answer: A 

 

QUESTION 5

Which files have to exist on Compact Flash 3 during system initialization on the Alcatel 7x50? 

A. iom.tim 

B. boot.ldr 

C. cpm.tim 

D. config.cfg 

E. bof.cfg 
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Correct Answer: BE 
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